1.

£ 5 K pEaR oy
P N wE FIH|
”%Pﬁ‘j [l (—— ) P

6 4= 7 éH.CF. %1 6 4o 7 chL.C.M. .42 -

6 4 7 e H.CF.x6 4 7 51 L.CM. = 1 x 42 = 42.

A B (s By £ 0)ehHCF 2.1 Ae?

$: 4 BaFESHCFE 21

3 B o L.CM. E_*Aan?

Fio R g LOM. ks e

S5Fr 11 k] o B #icH_55 5 fr 11 % = B o2 EE 165
(55 x 3 = 165)

T A - B #cE 6 fr 12 o 2 #K?

O A .2 @12 O C.30 O D.40

T A vR— e fcengo Lt O Fl#cd 89

O A. 16432 (16) @B. 16424 (8

O C.24-4 (2) O D.8 4w 12 (4)

A -2 E 5 A B 3B f hE S A 3%5@“—%

NARSRRCY Fub B B3 Ct M A

$%. 15 m4 (543 L.C.M £15) |

ﬁﬁﬁﬁﬁﬁﬁﬁﬁ

Firf - BE 40 B R 30 BA RS AIA A S B

APl > Aj .

—————

F RV EEE LS PR D 30@%[_3

#%:10 B4 (3040 HH.C.F. £10) JT




